

06/12/2024 12:00 PM | Install Day Drive + Install 06/13/2024 09:00 AM | Install Day 2 06/14/2024 09:00 AM | Install Day 3 06/15/2024 09:00 AM | Event Date

06/16/2024 09:00 AM | Strike

PO: Shipping Address: Santa Ynez **Details Event Planning** 4230 Via Mira Monte Calabasas, CA CA

Invoice Date:

Due Date: Upon Receipt

Salesperson: Milana Ayvazova

Description		Qtty	Price		Total
General					
	Chandeliers - Moscow - Round Large 48"W x 84"H - 85lb - 2 Amp	17	\$650.00	Т	\$11,050.0
	Chandeliers - Moscow - Round Medium 36"W x 60"H - 50lb - 1Amp	16	\$550.00	Т	\$8,800.0
			Total General		\$19,850.0
Cocktail Hour					
	Bora Bora Bar - 26' x 26' 12-8', 4- corners, internal dimensions 24' x 24', tbd paint / insert	1	\$13,200.00	Т	\$13,200.0
			Total Cocktail Hour		\$13,200.0
Tent Decor					
	Ceiling Stock Draping - Champagne Stretch Velvet 180' x 98'	1	\$25,000.00	Т	\$25,000.0
	Peak Wall Draping - 100' x 28'H Varying Heights 3 peak walls, 1 entrance wall has swagged / overlaying fabric	3	\$4,500.00	Т	\$13,500.0
	Stock Inner Perimeter Draping - 500' x 14'H champagne stretch velvet	1	\$10,500.00	Т	\$10,500.0
	Draping For 40' x 25' Pop Out Buffet Tents full pleated ceiling, 150' perimeter draping,	2	\$8,300.00	Т	\$16,600.0
	Valance In Stock - Champagne - 1100'	1	\$5,000.00	Т	\$5,000.0
	Roll of Stretch Velvet Fabric Champagne to wrap existing poles on site	1	\$0.00	Т	\$0.0
	Chandeliers - Budapest - Crystal 80" 80"W X 83"H - 155lb - 925 Watts	5	\$1,000.00	Т	\$5,000.0

Description		Qtty	Price		Total
	Chandeliers - Budapest - Crystal 60" 60"W X 63"H - 80lb - 650 Watts	4	\$800.00	Т	\$3,200.00
	Chandeliers - Budapest - Crystal 40" 40"W X 45"H - 48lb - 450 Watts	10	\$750.00	Т	\$7,500.00
34	Chandeliers - Vienna - Amber 48" 48"W X 57"H - 100lb - 750 Watts	4	\$750.00	Т	\$3,000.00
	Chandeliers - Vienna - Amber 44" 44"W x 47"H - 95lb - 750 Watts	4	\$750.00	Т	\$3,000.00
	Chandeliers - Montmartre - Amber Crystal 40" 40"W x 45"h - 80lb - 450 Watts	4	\$750.00	Т	\$3,000.00
Air Johnson	Chandeliers - Nice - Pendant Brass And Crystal placed in pop out tent 40"w x 65"H - 150lb - 1050 Watts	2	\$750.00	Т	\$1,500.00
	Sconces - Brussels - Straight Crystal & Gold 9.05"W x 12.6"H	16	\$90.00	Т	\$1,440.00
-	Additional Sconces Purchase Sconces - Brussels - Straight Crystal & Gold	4	\$110.00	Т	\$440.00
	Oversize Props - Palm Leaves 01 paint color TBD 4'2"W x 1"10"L x 10'2"H - 12' Palm Leaf Shade	4	\$950.00	Т	\$3,800.00
	Custom Made Oversize Palms 01 - Sets custom 2'x2' box with 3 palms	8	\$2,200.00	Т	\$17,600.00
	Custom Made Oversize Palms For Stage	6	\$2,300.00	Т	\$13,800.00
	Custom Panels Behind Booths - 8W x 12'H client to provide the wall paper,	10	\$700.00	Т	\$7,000.00
Rentals			Total Tent Decor		\$140,880.00
nemais	Console - 64'W Placed Behind Banquettes	1	\$4,000.00	Т	\$4,000.00
	Barback - Curved Alcoves W/ Shelves - 3 Arches client to provide wall paper, paint color TBD 22'W x 18"L x 10'H	1	\$3,800.00	Т	\$3,800.00
	Additional 8'W Curved Alcove With Shelves - 1 Arch client to provide wall paper, paint color TBD	1	\$950.00	Т	\$950.00

Description		Qtty	Price	Total
	Bars - Nice - Straight Light Up 8'	4	\$850.00 T	\$3,400.00
	30"W x 8'L x 42"H - Color Upon Request			
	Bars - Nice - Light Up Ends 5'	4	\$700.00 T	\$2,800.00
	2- lefts and 2 rights - 24"W x 5'L x 44"H - Color Upon Request			
	24 W X O E X 44 TT GOIGH OF ON THE QUEST			
	Barback - Nice - W/ Light Up Columns	4	\$0.00 T	\$0.00
	paint color TBD, \$500 each 18"W x 8'20"L x 9'H - Color Upon Request			
	Coffee Tables Manage Irregular Proces		\$275.00 T	¢1 6E0 00
	Coffee Tables - Monaco - Irregular Brass 55"W x 33"L x 20"H	6	\$275.00 T	\$1,650.00
			Total Rentals	\$16,600.00
Pullsheet				
			Total Pullsheet	\$0.00
Services				
	Wednesday - Drive + Partial Install Ceiling and chandeliers	12	\$650.00	\$7,800.00
	Thursday - Install Perimeter Draping, popouts & outer tent draping	12	\$600.00	\$7,200.00
	Friday - Install furniture, props, consoles, bars, etc	8	\$650.00	\$5,200.00
	Saturday - Touchups	8	\$450.00	\$3,600.00
	Sunday - Strike + Drive Back	12	\$650.00	\$7,800.00
	Truck + Gas Surcharge	8	\$600.00	\$4,800.00
	Hotel Rooms For Crew: 5 Rooms, 4 Nights cost is estimated, might go up depending on time of booking & availability	1	\$6,000.00	\$6,000.00
	Per Diems For Crew	12	\$260.00	\$3,120.00
	Manager Fees: Productions, revisions, on site management, Hotel room, etc.	1	\$3,500.00	\$3,500.00
	Wallpaper Application Fees	1	\$1,200.00	\$1,200.00
	Lift Rentals	1	\$4,500.00	\$4,500.00
Diogga maka aha	ake navable to Povelry Inc		Total Products:	\$100 E20 00
Please make checks payable to Revelry, Inc. Note: Prior to deliveries and pick-ups all invoices must be pay in full Please ready the contract and sign it		Total La	\$190,530.00 \$54,720.00	
		Wear & Tear (4.00%):		\$7,621.20
			Packing (2.00%):	\$3,810.60
Notes			Taxes:	\$18,100.35
			Discounts:	(\$0.00)
			Total:	\$274,782.15

Payments: (\$0.00)

Balance: \$274,782.15